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HMEMRTOREEXRFMLDHH -BBEMNDHHE -BBE] (FH2EFE)

(E+nl& x 10", 5 Z [EE+31% X 10000 EKTY S, )

HEH = (ke/ ) BENE (kg/HF)
#B3E HHE
R (BERRE| ko~ |k~ [ BECCL gug |kt~ mmn| sps | BDE
a—Fk DHEH | DHEH AR B T &5 DBRB=E| K &&t = A
1 |deiEE 8.2E+0 8.2 1.1E+1 11.0 19.2
2 |EHE
3 |AFE
4 |EHE
5 (AR
6 IR
7 |fRBE 3.0E-1 0.3 0.3
8 |ZWE 1.3E+0 1.3 1.7E+1 17.0 18.3
9 |HAE 2.0E+2 197.0 197.0
10 [HER 2.5E+1 25.0 4.0E-1 0.4 25.4
REEET! 3.3E+1 33.1 33.1
12 |TER 1.1E+0 1.1 4.0E+5 404,860.4 404,861.5
13 | 2.0E-1 0.2 0.2
14 |[#E)E 1.6E+2 160.0 7.4E+4 73,584.0 73,7440
15 |FriRE
16 |[EWE
17 |RINE 2.0E-1 0.2 8.3E+1 83.0 83.2
18 |BHE
19 [ILEE
20 |RHE
21 |IgEE
22 |E¢ER 7.6E+1 76.1 76.1
23 |BHER 5.0E-1 05 2.1E+2 213.1 213.6
24 |=ZER 1.6E+2 160.0 1.7E+2 165.0 325.0
25 |HER 2.0E-1 0.2 1.9E+0 4.5E+0 6.4 6.6
26 |REAT 2.0E+2 200.0 1.0E-1| 3.0E-1 0.4 200.4
27 | KBRAF 8.3E+1 82.8 1.0E-1| 8.3E+2 825.7 908.5
28 |EER 3.2E+2 320.1 4.3E+2 432.1 752.2
29 |ZRER
30 |FOERILE 2.0E-1 0.2 0.2
31 |BHRE
32 |BRE
33 |EWLE 2.6E+2 260.0 2.8E+2 280.0 540.0
34 |[LER 5.1E+0 5.1 1.1E+2 107.0 1121
35 |lLAOg 5.0E-1 05 5.9E+2 592.4 592.9
36 |fESR 1.9E+3 1,920.0 1,920.0
37 |BNR
38 |BIRER
39 |EER
40 |fERR 7.5E+2 749.0 5.9E+1 59.0 808.0
41 [EER
2 |RIBER
43 |EEARER 6.9E+1 69.0 69.0
44 | KHR 5.1E+0 5.1 1.4E+1 14.0 19.1
45 |FIFER
46 |EEER
47 |[HiER
£ H 2.0E+3 1,979.3 2.1E+0| 4.8E+5 483,546.6 485,525.9
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